SECTION 6.3 = PAGE 459

1. y/5 x/r, v/x 2. quadrant, positive, negative, negative

3. (a) 30° (b) 30° () 30° 4. (a) 60° (b) 30° (c) 60°
5, (a) 45° (b) 90° (¢) 75° 6. (@) 81° (b) 19° (o) I°
7. (@) w/4d ®) w6 () 73 8 (a) w3 (b) w/4

(© 7/6 9. (a) 2m/T (b) 04w (¢) 1.4 10. (a) 037
(b) 0.84 (¢) 0 11.1 12. —V2/2 13. —=V3/[2

4.4 15 -V3 16.2 17.1 18 V3 19. =V3[2
20. —2 21. V33 22.% 23.V3/2 24 —\/3)2

25. —1 26.% 27.1 28. -V3[3 29.2 30. -V2
31. —1 32. V2/2 33. Undefined 34. —3

35. 1 36. IV 37.1IV 38 1II

39, tan @ = —V'1 — cos?@/cos 6
40. cot§ = —V'1 — sin’0/sin 6

1
41, cos 8 = V1 — sin®9 42. secd =

V1 — sin®@
43, sec§ = —V1 + tan’0 44. csc = —V'1 + cot’6
45. cos@ = —% tanf = —3,cscf = 3,sech = —3 cot§ = —%

46. sin @ = —\/95/12, tan 8 = V95/7, csc § = —12V/95/95,
sec§ = —12/7,cot8 = 7V95/95

47. sin@ = —3,cos0 =%, csc0= —%,secd =3, cotd = —3
48. sin = —2V6/5,cos § = }, tan 8 = —2V/6,

csc§ = —5V6/12, cot § = —V6/12

49. sin § = 4, cos 6 = V3/2,tan § = V33,

sec 8 = 2V3/3,cot 8 = V3

50. sin @ = —4V17/17,cos 8 = —V17/17,tan @ = 4,

cscf = —\/ﬁ/4, sec = —V17

51. sin 8 = 3V/5/7, tan 8 = —3V5/2, csc 6 = TV5/15,

sec§ = —2 cot§ = —2V5/15

52. sin @ = 4V/17/17,cos 8 = —V17/17,csc 8 = V17/4,
sec = —V17,cot@ = —% 53. (a) V3/2,V3

(®) 3, V3/4 () 088967 54.300 55.19.1 56. 433
57. 66.1° 58. V96cm =~ 9.8cm 59. (47/3) — V3 =~ 2.46
60. 1207 + 363 = 439.3

63. (b)
| 60° 80° 85°
1922 9145 29 944 60,351
64. (b) 200 (© 60°

0

65. (a) A(G) = 400 sin 8 cos 0
1) 300

157

0

(¢) width = depth ~ 14.14 in.
66. S(8) = 8000 k cos 8 sin’0

67. (a) 9V/3/4 ft = 3.897 ft, & ft = 0.5625 ft
(b) 23.982 ft, 3.462 ft  68. 15.8s

Answers to Section 6.5 A71

69. (a) 1 (b) 0.946 rad or 54°

70. (b) 40 (c) 21.07 71. 42°

0
SECTION 6.4 = PAGE 467

L (a) [~1,1],[~7/2,7/2] ®) [~1,1],[0, 7]

© R (-7/2,7/2) 2.@ % B ©F 3. @ /6

() 57/6 (¢) —7/4 4. (@) —w/3 () 3w/4 (¢) —7/3

5. (@) —7/6 () 73 (¢) w6 6. (@) ~w[2 B O (&) 0
7. 046677 8. 241886 9. 1.82348 10. 0.33984

11. 1.24905 12. —1.32582 13. Undefined 14. Undefined
15. 36.9° 16. 21.3° 17. 34.7° 18. 25.4° 19. 34.9°

20. 27.3° 21, 30°,150° 22. 60°,120° 23, 44.4°, 135.6°
24. 14.5°,165.5° 25. 45.6° 26. 83.6° 27.% 28.% 29. 2

30. 2 312 32 V52 33 V1-a? 34 x/VaP+1
35 x/V1—x% 36. 1/Vx2+1 37.725°,19ft 38. 38.7°
39. (a) h=2tan g (b) 6 = tan™'(h/2)

40. (a) 6 = tan"'(50/s) (b) @ = 68.2°

41. (a) 6 = sin™'(1/680) (b) 0 = 0.826 rad

1.57

3960
= [ S =
42. (a) 6 = cos <h T 3960) (b) s = 79200
3960
=7 Y Rttt 5 mi 3 mi
(€) s 920 cos (h + 3960> (d) 1761.5mi (e) 197.3mi

43, (a) 54.1° (b) 48.3°,32.2°, 24.5°. The function sin!is
undefined for values outside the interval [—1, 1].
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sinA _sinB _ sinC

2. ASA,SSA 3. 3188 4. 254
a b c

5,248 6.403° 7.44° 8. 1449 9. LC=114° a= 351,
b=24 10. 4B =50° a= 131, ¢ =257

11, LA =44° LB = 68° a =899

12. /B =~31.0° LC=69° ¢c=6.2

13. LC=62°a=200,b =242

C

A B
230

14, £C=47°a~267,b=~0642
c




